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Questions

Q1 TPOs and M&As

Matthew Mackenzie (MattMax for the insiders), the long-time CEO of HydroFuse, comes to talk
to his CFO, Kevin Larsson (Kevlar for the insiders). Both have founded the company some years
ago and it is has proven to be highly successful.

MattMax seems to be highly excited with the idea of running an TPO procedure. He tells Kevlar :
“Hey! Everybody around us is going public when their company goes well! Imagine, our company
listed on the stock exchanges! What do you think?”

(1) What do YOU think? What could be the advantages of going public?

MattMax continues: “Hey, M. Kevlar, you can help with that. You are a perfect CFO and it should
be easy for you to organise that. Don’t be too rigid this time, ok?”

(2) Isit so easy to go public? What do you have to care about when going public? Please comment
duly.

MattMax continues, unstoppable: “Kevin, by the way, how much do you think we could raise per
share?” Kevin has never been though the valuation of their shares until now.

(3) Several methods of valuation exist, among which we find the “multiples” method, the
Dividend Discount Model (DDM) and the Free Cash Flow Model (FCFM). What are the
advantages and disadvantages of each method?

Assume Kevin chooses a FCFM and compiles the following data:

*  The riskfree rate is 4% and the expected market return is 10%.
*  The tax rate is 34%
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* The beta of assets of comparable firms is 1.5.
*  The target debt/value (D/V) ratio of HydroFuse is 50% and their cost of debt is 9%.

Moreover, Kevin, as a good CFO with a strong Solvay background, thinks that he should use a
WACC that is consistent with 2 ideas: the WACC should be consistent with a constant debt ratio
and with the value of tax shields being discounted at the required rate of return on assets, ka.

(4) Compute ka and the WACC to be used in the present case.

The firm expects to generate unlevered free cash flows of €2.5 million (first year), growing at a
pace of 10% during the next 5 years. Then, from year 6 onwards, the growth rate should be
reduced to 3% per year to remain prudential on the valuation. There are 2°000’000 shares.

(5) Provide a value for the shares of HydroFuse.
(6) How much is the present value of tax shields responsible for in your valuation?

The bank is calling you today to determine the price around which the subscription interval will
be defined when issuing the prospectus. Even though you have been through the valuation
procedure before, you will not necessarily determine with him the same value to be the issuing
price...

(7) Imagine that the value found before for the share price is the “true price”. Explain why you
may not be proposing the true price as an issuing price? Will you propose a higher or a lower
price to be proposed to the market? Why? Comment carefully on the underlying reasons if
any.

The value of this kind of firms happens to be quite volatile. Assuming a very simple uniform
distribution, we can think that the value could be in a range of €10 higher or lower than the value
found above for the share price. Moreover, these new powering technologies attract a lot of
attention of the investors and given that you had to deal with many partners, you may guess that
the amount of informed investors is relatively high, let’s say 20%.

(8) What price do you propose then to the banker?
Remark:

The roots of a second-order polynomial can be found through the following expression:

_ —b++/b*—4ac

2a

2

Added-value

MattMax comes the following day to Kevlar telling him: “I have been looking at the valuation you
made yesterday. The free cash flows include the values of some licenses that we would not develop
and that we could sell. How the hell have you been able to put a value on those?”

(9) Can you help Kevlar to answer? Comment carefully.

(10) What are the exact inputs you would require to put your valuation into place? What proxies
could you use for some of them? Otherwise said, provide the exact details of the inputs and
methodology together with its implementation to value those licenses.
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Q4

M&A

MattMax’s mind is clearly skyrocketing. He finally not so convinced about willing to run an IPO
process and continue developing internal growth after. He thinks that another solution could be to
try to find the right acquisitive partner instead of going through an IPO.

(11) What do you think about the choice of an TPO vs. an acquisition by a bigger counterpart?

MattMax continues, arguing that for the potential acquirer he’s thinking about, HydroFuse could
bring them diversification and that has some value in itself.

(12) What do you think of this? How would you value it? Argue carefully.

Issuing more equity

Splantex Inc., a company dedicated to the production of car bumpers, is considering investing in a
new project. The project requires an investment of 5 mio € and is expected to generate, during a
life of 10 years, a starting EBIT of €1 million the first year that will then grow at 2% for the
remaining years. The investment will be depreciated linearly over the 10 years. There will be no
maintenance reinvestment during the life of the project. The tax rate is 34%. Let’s assume there
1s no debt. The riskfree rate is 4% and the expected market return is 10%. The beta of equity is
1.2.

(13) Compute the expected value of this project for the firm. What do you decide?
(14) Would the use of the APV method procure any advantage(s) in the present case? Comment.

Market analysts estimate the value of assets of the firm before the project to be at €100 million.
In fact, this is a rough average. This kind of firms is subject to some volatility and everybody
agrees that, in the case of Splantex, this could mean a high value of €120 million or a low value of
€80 million, with both states being equiprobable.

(15) Knowing that the firm wants to make use of more equity to finance this project (they don’t
have enough retained earnings to use instead), do you think shareholders will agree to
proceed with this project?

(16) What could you do in general to reduce the problem that may appear and that was described
through the present question?
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